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p A) Comprehension Lind - 0 0041 | 030 0
3pt 1. True/ i i - - ‘
m':"h 3 Tm‘:" False, Correction 4J.ml | x| 004lx 10.30-2)5 R x
b)False. 050 He is going to help his father. 0.50 | Y] x [ 00w [0 |4 ] w X
¢) False 050 He will go out with his friends. 0.50 bt O
lzl"’h 2. Answers ") W
Pl‘m . & M
a) Yes, hl:. is. b) Yes, he will, s Jpaadl eda -2
2 pts 2)old b out 0 t{min) 01 |2 3 4 5 6 7 8
05 exch _ _ b5 [ Vig(mL) 10| 336 625 | 810 | 910 | 970 | 985 | 985 | 985
Synonvms: a) tomorrow b) repair | X (050 14 26 3.4 38| 40| 41| 1] 4l
- ? (gitial) sy
Tt | 2pts B) Mastery of language 4 ; : b8 i
05 each 1. Punctuation e
Tomorrow, Nadir will send a letter to Ali. 05 =3 .
3pis 2. Negative
Ipteach 1. Nadir will not be free. ,‘
2. They are not going to repair the roof, b
3. He does not want to write a letter.
2pts Pronunciation :t(minl) ;
7 T T 05 x, =0,041mol  Jd e ; Al aaill 4
0.5 each helped stayed - repaired | wanted <210 e
025 | Mg s adidelitdiaia, LRI VE St
Part II: Written expression & i *r =
i , , 025 [v=Th=t M Wi a iy el B e e S
Criteria Indicators E|G|F| P 0.25 ' Ax 5 :
Relevance writes a letter 2 |15] 1] 08 ,=0 P =—-=20x10"mol/min, odaall Lo
Hu pts | pt | pt A .
Semantic locates ,describes, speaksabout | 2 | 15| 1 [ 05
pts coherence habits pis [ pt | pt
Syntactic Correct use of grammar, word 213501108 0.25 ’
2pts : AT . 3 i ,
. coberenct | order, spelling, capitalisationand | P | ?* | ,=3min P, ‘_=-Aﬁ =0,6x10" mol/ min
punctuation, going to, future, & vo okl Ja
simple
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